7445

W75 =h)LT—% / Technical Datall

#EATR LY / Recommended torque
NATUTARILEM3Xx10 / Hexagonal M3-10 : 0.2N*m

& T B 1EF~M2.5x7 / Captive pan head M2.5-7 : 0.15N*m ~ 0.2N-m
ZDHE X / Other screws : 0.3N*m ~ 0.6N*m

B4k (BUFZXREDODQ) / Color Type(End of product numberd)

#ERHNZA / Components

No. 2R / Part name #=E / Pcs ME / Material & -FRME MW / Color-Finish
i a—F—JAavy 4 TILEZALF v ADC12 DIbN— R (NERERILIE)
Corner block Diecast aluminium ADC12 Silver-Painted (Unfinished inside)
9 R ) TILSIRHA A6063S-T5 DIbN— - (NERERILE)
Frame Extruded aluminium A6063S-T5 Silver-Painted (Unfinished inside)
3 IL—L . TILSHHH# A6063S-T5 DIV — B (RERELE)
Panel support frame Extruded aluminium A6063S-T5 | Silver-Painted (Unfinished inside)
. ISR ) 7 LR A1100P DIIN— - BE (EEERLE)
Panel Aluminium A1100P Silver-Painted (Conductive inside)
5 HN— ! 7 ILEHR A1100P VILA— % (EEERLE)
Top cover Aluminium A1100P Silver-Painted (Conductive inside)
6 TH— ! 7ILSHR A1100P VILA— % (EEERLE)
Bottom cover Aluminium A1100P Silver-Painted (Conductive inside)
. a—F—H—F 8 TPE (TS RF7) T5vY, JL—, FAE—, Lk
Corner guard TPE (Elastomer) Black , Gray , Navy , Red
o EMCY—ILRH R vk 16 BEMHIM (UL4v-0) ARy T L—
EMC shielding gasket Conductive fiber UL94V-0 Metallic gray
9 ER{FE R (MM3 x 8) 16 #% =oTILAVE
Screw (Flat head M3 - 8) Steel Nickel plated
10 BFER (RETTRILIME x 10) 8 &% =@mESOr—+
Screw (Hexagonal M3-10) Steel Black trivalent chromate
» BFER GETRALEFAM25 x 7) g % 2V
Screw (Captive pan head M2.5 — 7) Steel Nickel plated

i85 / Code | 7JILZH—XR / Aluminium enclosure | 3—3—#—K / Corner guard
S B 2 JLiS— / Silver 75v% / Black
S G 2 )LiN— / Silver J'L— / Gray
SN < JLsN— / Silver FAE— / Navy
S R 2 JLsS— / Silver LYk / Red

BRSUINTFERT S

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

fmf/Title
O—F—H—F{HEMCY— LR —X
EMC SHIELDED ENCLOSURE with CORNER GUARD

o]

RIE/Scale

7 5%/ Approved t&X]/Checked

iR ES

#I[X/Created

FIE /Product number

#®F AUGE133-16-36-L101

R— /Page

{ERL B /Date

2023/11/20

177

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




132.5 £0.5 (r—RA4 2 / External)

D view

313

f

I

fil
{

E view

160 +0.5 (5 —R 4V / External)

fy
©
<
-
(]
-+
x
L
~
P
v
'
r|<
L
~—
0
o
+
o
©
™

A view C view
168

A-A(1:55)

346

368

C-C(1:55)
10 0
o 9]
= X
7
152
B view

10 10
< —
< N
Te)
N
F view 50
R52
R24
({ o? soh o
Te)
4 /Title
TAKACHI] #ARAIAFBEIE O—F—H—FHEMCY— LR —R O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. EMC SHIELDED ENCLOSURE with CORNER GUARD —
7 5%/ Approved &/ Checked #1[X]/Created FIFE /Product number REE/Scale
1:5.5
FiR X TF AUGE133-16-36-[] g v
M feRiB/Date  2023/11/24 2 /1

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C fl#x / C Frame

310

1315

14
-
Y

Ea

R / Front side

D {8I#% / D Frame

2-M3RH SR
2-M3 Countersunk
X 3@+ B4k / Same on the other side.

B2

22.5
N
™
(L
@
™
™~
oo
7
3
@
™
==
N
™
o
S
5
(Lo
==
ol
Sid]

XM / Front side

Z M / Back side

% / Back side

BRASHEIHTFERIE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

mmf/Title
GRS

Frame

o]

7 5%/ Approved #%[X|/Checked #I[X/Created FIE /Product number RIE/Scale
1:3
iR £ wF ~R—/Page
H133 - D360 YERLH/Date 2023/11/27 3 /17

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




16

225

86

-

2-M2.5

110

2-M3AHY IR
2-M3 Countersunk

14

3.3

£t47K / Total 4 pieces

BREHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

i/ Title
IL—Ls

Panel support frame

o]

7 &8/ Approved %[/ Checked #[X/Created #4% /Product number RE/Scale
1.5:1
iR E: w4t —
W160 1ERLH/Date 2022/11/16 4 /1

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A /N2RJL / A Panel

119

XM / Front side

B /A% JL / B Panel

K / Front side

109.5

e 5
A4 A\ 4

oY oY
L S — AR

A#Fi% / Max dim.102+ 0.3

& Zs |
A\ 4 A\ 4

o o
B~ S — A

BHTi% / Max dim.98.6+ 0.3

4-M25FARILRY)—T
4-Metal sleeve for M2.5

3.5

REES—HA

Surface protective film side

REES—HMA

Surface protective film side

1115

251 / Back side

221 / Back side

86

fa %/ Title
TAKACH) #=&#snF BRI R o]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
A2/ Approved #&[X/Checked #[X]/Created F& /Product number RIE/Scale
1:25
x (320 ~R—/Page
H133 - W160 {ERL B /Date 2022/11/16 5 /17

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




149.4

4-R14.7
130 4-@4.5 2

AT / Max dim. 313 £ 0.5

<

> S

g ™
RES—MA
Surface protective film side

O O O o]
A3hTE / Max dim. 113 £0.5
Z M / Front side Z2M / Back side

mmf/Title
TAKACHI] BXEHANTFEHITE Fi8— O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. TOp cover
T = TS RE/Scale
7 B/ Approved &/ Checked #1[X]/Created FIFE /Product number
1:25
AR =3 BF R—/Page
W160 - D360 YERLH/Date 2023/12/13 6 /7
AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




149.4

4-R14.7
130 4-@4.5 2

A% / Max dim. 313 £ 0.5

<

> S

g ™
RES—Ma
Surface protective film side

O O O O
A3h~TE / Max dim. 113 £0.5
ZME / Front side Z2M / Back side

md/Title
BARHINTFERT S THi— O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
778/ Approved #&[&/Checked #U[X]/Created F1F& /Product number RE/Scale
1:2.5
PR =3 BF R—/Page
W160 - D360 {ER B /Date 2023/12/13 7 /1

AREDEFEIBRREHINTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.






